2 h Glln"h' - &R C:!q‘F-.F -
,E,AS" -1‘:(‘1)" N~ S yg A Copels ,:,_:,:)(_H "ﬁhﬂf A& 4 SYCh Hooct
‘ 5 ) XZ= -
Selir v £O) = Condy N6 Rim fexy THe Josx<io O
: oA V21 Xy
o AChr= A TS Ars = /T'?-1~§=- %(1\:111-.[-3(.:1’?\@*
‘ ) Pl i Jfﬁ "1(1:! ==
LivA Aoy = Jlm("x-slhﬁt+gj X ) X700
XA =y iy ) X< o HNLTREL=fey
dgf-]- ?Ld_ X = n.t_;\ -_-_-JI_:) FAY & ‘-\—'},Q = Liv, (xy = 'F(-“)

=)

X 21X~
Liy, [ CA+RY= SinCnthy s) [P BEsT - 10 onkir >0
M R o AP
F vhim [Creny= Sn (At +s )

hes p A<~
%) Kﬂdrn)-—&lh(ﬁf“\*S

~ A _,-Sl'h.ﬁ+5 = B ks
U,.,,H:-fi('ﬁj So F)~ G,



ABLES o

B (mh . 2 dife

P 2RIt 1 oo £y ditmse s o o

_g__]n 2 real iy .

u'@ [;IB\H'D = L_HE_—J => ﬁhi"f
D Bim £ OHR) = £x)) (i £ Ge-h) =60
h— o h >0 B

=\ [‘_.lih-, ’(:Cf‘ﬂ-k'}ﬂg = S, 0 Y =€y

I\"‘bu l-\ L\"'!ng _\——ﬁ
Dura, Prove 4net ﬁm-m, XER Gy not DS ag

oI RHD - Lim £y - € = uél:-; 1% hot | = VX = Qi thent = 110 ¢ i K0

) - | X -‘.'1—1? ™ - |1 N = Sim (1) = \
v T (- = S | A-h-y) = Fim |- -y 12 diw h— Ty
) L 4 h{(x RyFfouy = S ) Al o L= T e ——____";\

. z dim(=1) = -
P [RHD 3 LID) & Wt Di: Vb, i




ABLES o

. H (Conh . & Al
W= [X) = =g Cheek. dff 9 1
Ty Cheek -9(11=C"~3r°<7(q~‘3 e di—({'% o

A X=1 & =2 . (= Q

w1ﬂ'-*q+-:;(._., C I 69 F.

RHDS WLimy £ (xth)-« (%) = LOim E?('“D"‘E‘xj
-0 __'_‘_'\"_““-——- h-o ‘__—‘E-—-————

- u...Ql'hr] E|+|’,\j.._[1-‘] .
=y L | — .
hso —— = L\::E _HL:;{:: "'-E = O

: W
Lpz) L €0t 1n\v-€xy - o
T et < e o
= &rmbg;‘g_;@-:&Em O=1 =y Wim 7\

h=q -h =0 Fh
= JLim __‘_
h"‘)nkt\) .

Meqe LHD & et degine. = i

=D 4



